

UGVCL/ MSH DO/E-TENDER/2017-18/ No-_ TENDER ID:- 141/2018

E-Urja Purchase Requisition No:-359679; RFQ No:-49841

Executive Engineer, UGVCL, MEHSANA D.O. invites Tenders for Labour for Fabrication work from 65x65x6mm MS Angle /50x50x6 mm MS Angle / 16mm2 MS Round bar /100 x 50 x 5mm MS Channel as per Schedule B for Mehsana DO. Tender Papers & Specifications may be **downloaded** from Web site UGVCL web site www.ugvcl.com (To view & down load only). Tender fee may be paid along with submission of tender and its receipt to be kept in the cover containing **EMD**, for respective tender. "All the relevant documents of tenders to be submitted physically" will be received only by Registered Post A.D. or Speed Post addressed to **Executive Engineer, UTTAR GUJARAT VIJ COMPANY LTD., DIVISION OFFICE, MEHSANA** "NO COURIER SERVICE OR HAND DELIVERY" will be allowed. The Agency must have registration in appropriate class with the UGVCL and have executed work of similar nature and magnitude successfully, prior to the date of opening of technical bid of the tender otherwise their bids will not be considered eligible for technical scrutiny and as such, their technical bids will not be opened.

Estimate cost.	Rs. 500000.00
Earnest Money.	Rs. 5000.00
Security Deposit.	Rs. 25000.00
Last date of online submission of tender /EMD	Date: - 19.10.18 On 15.00 Hrs.
Last date of physical submission of tender	Date :- 19.10.18 On 15.00 Hrs.
Date of opening the tender	Date: - 20.10.18 On 15.00 Hrs. (If Possible)
Type of tender	Item Rate.
Tender Fee	Rs. 500.00 + RS.90 (GST)
Time Limit.	12 months

Earnest money deposit will be accepted in cash or by demand draft on any schedule bank at MEHSANA in favour of UTTAR GUJARAT VIJ COMPANY LIMITED, cheques or Bank guarantee will not be accepted.

Tender received through RPAD will be accepted.

SUPDT.ACCTT. UGVCL, DO, MEHSANA

EXECUTIVE ENGINEER UGVCL, DO, MEHSANA

UTTAR GUJARAT VIJ COMPANY LIMITED : DIVISION OFFICE : MEHSANA

Schedule : B

Sub : - Labour for Fabrication work from 65x65x6mm MS Angle /50x50x6 mm MS Angle / 16mm2 MS Round bar /100 x 50 x 5mm MS Channel as per Schedule B for Mehsana UGVCL Division.

Sr. No.	Description	Quantity required	Rate Rs. Ps.	Amount Rs. Ps.	Remarks
1	Side Clamp :				
1A	Fabrication of Side clamp for PSC pole from 50 x 6 mm MS Flate as per drawing & specification / Sample & instruction. CODE NO 9910000040	5000	4.25	21250.00	
1B	Fabrication of Side clamp for RSJpole from 50 x 6 mm MS Flate as per drawing & specification / Sample & instruction. CODE NO 9910000037	50	4.25	212.50	
2	Stay Clamp Pair :				
2A	Fabrication of Stay clamp pair for PSC pole from 50 x 6 mm MS Flate as per drawing & specification / Sample & inst. CODE NO 9910000041	5000	7.00	35000.00	
2B	Fabrication of Stay clamp pair RSJ pole from 50 x 6 mm MS Flate as per drawing & specification / Sample & instruction. CODE NO 9910000038	100	7.00	700.00	
3	U-Clamp :				
ЗA	Fabrication of U-Clamp from 50 x 6 mm MS Flate as per drawing & specification / Sample & instruction. CODE NO 9910000039	5000	3.25	16250.00	
4	THREE HOLE PATTI				
4	Fabrication of Three hole patti from 50 x 6 mm MS Flate as per drawing & specification / Sample & instruction. CODE NO 991000042	150	3.00	450.00	
5	V-Cross Arm :				
5A	Fabrication of V-Cross Arm from 65 x 65 x 6 mm MS Angle as per drawing & specification / Sample & instruction. CODE NO 9910000027	5000	28.50	142500.00	
5B	Fabrication of V-Cross Arm from 100 x 50 x 6 mm MS Channel as per drawing & specification / Sample & instruction. CODE NO 9910000052	12	104.00	1248.00	
6	Top Fitting :				
6A	Fabrication of Top fitting from 65 x 65 x 6 mm ms Angle & 50x6mm MS Flate for chapala as per drawing & specification / Sample & instruction. CODE NO 9910000028	1000	8.00	8000.00	

6B	Fabrication of Top fitting from 50 x 50 x 6 mm msAngle&50x6 MS Flate for chapala as per drawing & specification / Sample & instruction. CODE NO 9910000029	1010	8.00	8080.00	
7	Anchor Rod :				
7A	Fabrication of Anchor Rod from 65 x 65 x 6 mm MS Angle & 16 mm2 MS round bar as per drawing & specification / Sample & instruction. CODE NO 9910000032	1000	7.75	7750.00	
7B	Fabrication of Anchor Rod from 50 x 50 x 6 mm MS Angle & 16 mm2 MS round bar as per drawing & specification / Sample & instruction. CODE NO 9910000033	1600	7.75	12400.00	
8	Turn Buckle :				
8A	Fabrication of Turn Buckle from 65 x 65 x 6 mm MS Angle & 16 mm2 MS round bar as per drawing & specification / Sample & instruction. CODE NO 9910000034	1000	7.75	7750.00	
8B	Fabrication of Turn Buckle from 50 x 50 x 6 mm MS Angle & 16 mm2 MS round bar as per drawing & specification / Sample & instruction. CODE NO 9910000035	1528	7.75	11842.00	
9	Eye Bolt :				
9A	Fabrication of Eye bolt from 16 mm2 MS round bar with threding (required 2 Nos.Nuts are to be supplied by Agency) as per drawing & specification / Sample & instruction. (Per No. with 2 Nut) CODE NO 9910000036	3500	27.75	97125.00	
10	T drawing & specification / Sample & instruction.Extension from Angle / Channel : as per				
10A	Fabrication of T Extension from 100 x 50 x 6 mm MS Channel -1350MM CODENO 9910000062	100	48.50	4850.00	
11	C formation				
	Fabrication of C formation from 65 x 65 x 6 mm Angle / 50 x 50 x 6 mm MS Angle & 50 x 6 mm MS Flat including jointing of U clamp cutting & making necessary hole as per drawing & specification CODE NO 9910000049				
11A	1-Ph. 3 Wire	100	49.50	4950.00	
11B	3-Ph. 5 Wire	100	49.50	4950.00	
12	D.P.Set from Channel: 100 x 50 x 5 mm : as per drawing & specification / Sample & instruction.				
А	M S CHANNEL CROSS ARM 600MM with 5 holes[0.60MTR/2FT] CODE NO 9910000054	11	10.00	110.00	

В	M S CHANNEL CROSS ARM 750MM with 5 holes[0.75MTR/2FT 6 IN.] CODE NO 9910000055	500	17.50	8750.00	
С	M S CHANNEL CROSS ARM 1050MM with 5 holes[1.05MTR/3FT 6 IN.] CODE NO 9910000057	500	10.00	5000.00	
D	M S CHANNEL CROSS ARM 1350MM with 5 holes[1.35MTR/4FT 6 IN.] CODE NO 9910000059	500	26.75	13375.00	
E	M S CHANNEL CROSS ARM 2750MM with 5 holes[2.75MTR/9FT] CODE NO 9910000050	500	37.50	18750.00	
13	D.P.Set from Angle : 65 x 65 x 6 mm as per drawing & specification / Sample & instruction.				
A	M S ANGLE CROSS ARM 9FT -2750 MM with 5 holes[2.75MTR] OF 65X65X6MM CODE NO 9910000044	1100	9.25	10175.00	
В	M S ANGLE CROSS ARM 4FT 6IN - 1350 MM with 8 holes[1.35MTR] OF 65X65X6MM CODE NO 9910000045	1100	7.25	7975.00	
С	M S ANGLE CROSS ARM 3FT 6IN - 1050 MM with 4 holes[1.05MTR] OF 65X65X6MM CODE NO 9910000063	650	7.25	4712.50	
D	M S ANGLE CROSS ARM 2FT 6IN - 750 MM with 9 holes[0.75MTR] OF 65X65X6MM CODE NO 9910000046	500	7.25	3625.00	
E	M S ANGLE CROSS ARM 2FT 6IN - 760 MM with 5 holes[0.76MTR] OF 65X65X6MM CODE NO 9910000047	500	15.00	7500.00	
14	D.P.Set from Angle : 50 x 50 x 6 mm: as per drawing & specification / Sample & instruction.				
A	M S ANGLE CROSS ARM 9FT -2750 MM with 5 holes[2.75MTR] OF 50X50X6MM CODE NO 9910000075	1100	9.25	10175.00	
В	M S ANGLE CROSS ARM 4FT 6IN - 1350 MM with 8 holes[1.35MTR] OF 50X50X6MM CODE NO 9910000076	1100	7.25	7975.00	
С	M S ANGLE CROSS ARM 3FT 6IN - 1050 MM with 4 holes[1.05MTR] OF 50X50X6MM CODE NO 9910000070	650	7.25	4712.50	
D	M S ANGLE CROSS ARM 2FT 6IN - 750 MM with 9 holes[0.75MTR] OF 50X50X6MM CODE NO 9910000067	500	7.25	3625.00	
E	M S ANGLE CROSS ARM 2FT 6IN - 760 MM with 5 holes[0.76MTR] OF 50X50X6MM CODE NO 9910000068	500	15.00	7500.00	

15	Earthing Coil made from G.I.WireNo.8	90	8.00	720.00	
		499987.50			
	Bidder's offer(+/-) in % (B)				
	Grand T				
	% GST (whichever is application) (D= C X %GST)				
	Grand Total including GST (E=C +D)				
Final offer in Rs.					

Terms & Conditions:

- 1. 50x50x6 mm /65x65x6 Angle / 16mm2 MS round bar /50x6mm MS flat /100x50x6mm MS channel will be supplied by UGVCL.
- 2. Ready material shall be carted by UGVCL at RSO Mehsana (Way bridge charge for weight of ready material paid by agency). Distance of Material carted by UGVCL from your firm will not more than 10.0 kms from Division office of UGVCL, Mehsana.
- 3. Scrap should not be more than 1.5%
- **4.** Fabrication should be done as per drawings & specification / sample & instruction.
- 5. In all fabrication item Quantity may be change as per our requirement within total amount of tender.
- 6. This will be an annual rate contract detailed sub work order will placed by time to time as per our requirement and bills will be finalized as per sub work order.
- 7. Experience of work of fabrication under UGVCL or GUVNL subsidiary company are required.
- 8. The rate should be quoted whether all scrap of holes and cutting will be credited by Agency or be kept at Agency. It should be clearly mentioned.

Signature of the Contractor

Executive Engineer Mehsana.

: GENERAL INSTRUCTION TO TENDERERS::

1.0 Tender are invited for the work of Labour work for various from raw material under division office MEHSANA from the contractors/firms who have executed works of similar nature and magnitude successfully.

2.0 Tender documents are in two bids system i.e. "Technical Bid" and "Price Bid".

- **2.1** Bidder has to submit tender in one Envelop and in this two different covers should be put; one has EMD /Tender fee and technical bid; while other has Price Bid. Technical bid should be submitted with documents as under, failing which tender is liable for rejection.
 - (i) Solvency certificate issued from any Nationalized Bank amounting to sum equivalent of estimated cost (Minimum 5.00 Lacs)
 - (ii) Separate EPF code No. allotted by RPFC & Last Six month of current year EPF Challan Paid Copy is required.
 - (iii) Income Tax & GST:
 - a. Latest income tax clearance certificate for the year 2015-16 And/or 2016-17/2017-18
 - b. Income tax at prevailing rate will be deducted as per income tax act
 - c. The rate shall be inclusive of PF and all other state/central government taxes, cess and levies.
 - d. The GST/Service at the prevailing rate should be paid as per the rules.
 - e. Regarding conditions of Tax, it will be binding to the contractor at relevant times.
 - (iv) For contractors should have carried out Fabrication work of various item from raw material, he has to produce certificate from concern division, stating that they have carried out work satisfactory for above said work. Experience certificate as per requirement for above work by authorized Officer – NOT BELLOW THE RANK OF EXECUTIVE ENGINEER - of Distribution Company under GUVNL.
 - (v) Group Insurance copy of the insurance policy of the insured labourer's under W.C. Act.
 - (vi) At least Rs. 5.00 Lacs turn over For the Year 2016-17-18 AND/OR of current year 18-19.
 - (vii) Attested copy of power of attorney, if any, for signing the bid documents, if partnership firm/company.
 - (viii) Contractor should produce GST NO. & PAN CARD Copy.
 - (ix) Tender Fee Amt. & EMD amount & DD No. & Date should be mentioned on Cover of Tender fee & EMD with Technical bid cover.
 - (x) In case of non-inclusion of any of the attachment with technical bid, the tender will be liable for rejection.
 - (xi) Payment of Bills will be made through REAL TIME GROSS SETTLEMENT (RTGS) System while submission of bill prescribed RTGS form shall have to be submitted for each Bill by Contractor/Agency.

Executive Engineer Mehsana